
Precalculus 11 – Midterm Flashback #2 

Riverside Math   

 

1. Evaluate:  �27
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2.  Evaluate  43 16482 −  

 

3.  Solve 472 −=−+ xx .  What are the restrictions on x? 

 

4.  Factor:  6𝑥𝑥2 + 22𝑥𝑥 + 20 

 

5.  “All integers are whole numbers.”  True or False ?  Explain how you 
know. 
 
 

6.  Simplify:  (2𝑎𝑎−6𝑏𝑏4)−3 
 

 

7.  Rationalize and reduce:  
31
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8.  Given the function    2𝑥𝑥2 − 5𝑥𝑥 + 9 =  y ,  describe what you know about 
this function based on the numbers in the equation. 
 

 

9. Solve:  𝑥𝑥2 − 6𝑥𝑥 = −10 

 

 

10.  Simplify:  �20𝑥𝑥5𝑦𝑦4    


